
 

4329/(Set : C)   P. T. O. 

CLASS : 12th (Sr. Secondary) Code No. 4329 
Series : SS-M/2019 

Roll No. 

jlk;u foKkujlk;u foKkujlk;u foKkujlk;u foKku    
CHEMISTRY 

[ Hindi and English Medium ]  

ACADEMIC/OPEN 

(Only for Fresh/Re-appear Candidates) 

Time allowed : 3 hours ] [ Maximum Marks : 70 

• d`i;k tk¡p dj ysa fd bl iz'u-i= esa eqfnzr i`"B 16 rFkk     
iz'u 21 gSaA  
Please make sure that the printed pages in this 

question paper are 16 in number and it contains 21 

questions. 
• iz'u-i= esa nkfgus gkFk dh vksj fn;s x;s dksM uEcjdksM uEcjdksM uEcjdksM uEcj rFkk lsV lsV lsV lsV dks 

Nk= mÙkj-iqfLrdk ds eq[;-i`"B ij fy[ksaA 
The Code No. and Set on the right side of the 

question paper should be written by the candidate 

on the front page of the answer-book. 
• d`i;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad 

vo'; fy[ksaA 
Before beginning to answer a question, its Serial 

Number must be written. 

SET : C 
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 ( 2 ) 4329/(Set : C) 

4329/(Set : C) 

 
• mÙkj-iqfLrdk ds chp esa [kkyh iUuk / iUus u NksMsa+A 

Don’t leave blank page / pages in your answer-book. 
• mÙkj-iqfLrdk ds vfrfjDr dksbZ vU; 'khV ugha feysxhA vr% 

vko';drkuqlkj gh fy[ksa vkSj fy[kk mÙkj u dkVsaA 
Except answer-book, no extra sheet will be given. 
Write to the point and do not strike the written 
answer. 

• ijh{kkFkhZ viuk jksy ua0 iz'u-i= ij vo'; fy[ksaA 
Candidates must write their Roll Number on the 
question paper. 

• d`i;k iz'uksa dk mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u-i= 
iw.kZ o lgh gS] ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok 
Lohdkj ugha fd;k tk;sxkALohdkj ugha fd;k tk;sxkALohdkj ugha fd;k tk;sxkALohdkj ugha fd;k tk;sxkA    

 Before answering the question, ensure that you 
have been supplied the correct and complete 
question paper, no claim in this regard, will be 
entertained after examination. 

lkekU; funsZ'k % &lkekU; funsZ'k % &lkekU; funsZ'k % &lkekU; funsZ'k % &    
 (i) LkHkh iz'u vfuok;Z gSaALkHkh iz'u vfuok;Z gSaALkHkh iz'u vfuok;Z gSaALkHkh iz'u vfuok;Z gSaA    
 (ii) ç'u la[;k 1 esa pkSng pkSng pkSng pkSng (i - xiv) oLrqfu"B iz'u gSaA izR;sd 

iz'u 1 vad dk gSA funsZ'kkuqlkj bu iz'uksa ds mÙkj 
nhft,A 

 (iii) ç'u la[;k 2 ls  11 rd vfry?kq mÙkjh; ç'u gSaA çR;sd 
iz'u 2 vadksa dk gSA izR;sd iz'u dk mÙkj yxHkx 30 
'kCnksa esa nhft,A 
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 ( 3 ) 4329/(Set : C) 

4329/(Set : C)  P. T. O. 

 (iv) ç'u la[;k 12 ls  18 rd y?kq mÙkjh; ç'u gSaA çR;sd 
ç'u 3 vadksa dk gSA izR;sd iz'u dk mÙkj yxHkx 40 
'kCnksa esa nhft,A 

 (v) ç'u la[;k 19 ls  21 rd nh?kZ mÙkjh; ç'u gSaA çR;sd 
ç'u 5 vadksa dk gSA izR;sd iz'u dk mÙkj yxHkx 70 
'kCnksa esa nhft,A 

 (vi) iz'u-i= esa lexz :i ls dksbZ fodYi ugha gSA rFkkfi 5 

vadksa okys lHkh nh?kZ mÙkjh; iz'uksa esa vkarfjd p;u iznku 
fd;k x;k gSA ,sls iz'uksa esa ls vkidks dsoy ,d,d,d,d gh iz'u 
djuk gSA 

General Instructions : – 

 (i) All questions are compulsory. 

 (ii) Question Number 1 consists of Fourteen (i-xiv) 

objective type questions carrying 1 mark 

each. Answer these questions as per 

instructions. 

 (iii) Question Numbers 2 to 11 are very short 

answer type questions of 2 marks each. 

Answer these in about 30 words each. 

 (iv) Question Numbers 12 to 18 are short answer 

type questions of 3 marks each. Answer 

these in about 40 words each. 

 (v) Question Numbers 19 to 21 are long answer 

type questions of 5 marks each. Answer 

these in about 70 words each. 

http://www.bsehonline.com/

http://www.bsehonline.com/

http://www.bsehonline.com/

Stu
de

nt
Suv

idh
a.

co
m

Download all NOTES and PAPERS at StudentSuvidha.com

dow
nloa

ded
 fro

m

http://www.bsehonline.com
http://www.bsehonline.com
http://www.bsehonline.com
Free Hand Highlight

Free Hand Highlight

http://studentsuvidha.com/
http://studentsuvidha.com/


 ( 4 ) 4329/(Set : C) 

4329/(Set : C) 

 (vi) There is no over all choice. However, internal 

choice is given in all long answer type 

questions of 5 marks each. You have to 

attempt only one of the given choice in such 

questions. 

[    oLrqfu"B iz'u oLrqfu"B iz'u oLrqfu"B iz'u oLrqfu"B iz'u ] 

[ Objective Type Questions ] 

 fuEufyf[kr cgqfodYih; iz'uksa ds lghlghlghlgh fodYi pqudj mÙkj-

iqfLrdk esa fyf[k, % 

 Choose the correct option of the following 

multiple choice questions and write in answer-

book : 

  1. (i) vJq xSl jklk;fud :i ls D;k gS \ 1 

  (A) 23NOCCl  (B) 2COCl  

  (C) 3CHCl  (D) 4CCl  

  What is Tear gas chemically ? 

  (A) 23NOCCl  (B) 2COCl  

  (C) 3CHCl  (D) 4CCl  
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 ( 5 ) 4329/(Set : C) 

4329/(Set : C)  P. T. O. 

 (ii) 453 ])([ SOClNHCo  vkSj ClSONHCo ])([ 453  esa 
D;k lEcU/k gS \   1 

  (A) ca/kuh leko;o  

  (B) milgla;kstu leko;o  

  (C) vk;uu leko;o  

  (D) foyk;d;kstu leko;o 

  What is relation between 453 ])([ SOClNHCo  

and ClSONHCo ])([ 453  ? 

  (A) Linkage isomers  

  (B) Coordination isomers 

  (C) Ionisation isomers 

  (D) Solvate isomers 

 (iii) ,sYdksgkWy ls ,fYdy gSykbMksa ds fojpu esa fdl fof/k 
¼vfHkdeZd½ dks izkFkfedrk nh tkrh gS \ 1 

  (A) 2ZnClHX +  (B) 3PX  

  (C) 5PCl  (D) 22ClSO  

  In the preparation of alkyl halide from 

alcohol which of the following reagent is 

preferred ? 

  (A) 2ZnClHX +  (B) 3PX  

  (C) 5PCl  (D) 22ClSO  
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 ( 6 ) 4329/(Set : C) 

4329/(Set : C) 

 (iv) ;
K443

42
23 XOHCHCH

SOH
 →  X D;k gS \ 1 

  (A) 22 CHCH =   

  (B) 5252 HOCHC  

  (C) 323 CHOCHCH −   

  (D) 423 HSOCHCH  

  ;
K443

42
23 XOHCHCH

SOH
 →  what is X ? 

  (A) 22 CHCH =   

  (B) 5252 HOCHC  

  (C) 323 CHOCHCH −   

  (D) 423 HSOCHCH  

 (v) fuEu vehuks vEyksa esa ls dkSu&lk /kzqo.k ?kw.kZd ughaughaughaugha gS \ 1 

  (A) ,sykfuu (B) Xykblhu 

  (C) oSyhu (D) Y;wlhu 

  Which of the following amino acids is not 

optically active ?  

  (A) Alanine (B) Glycine 

  (C) Valine (D) Leucine 
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 ( 7 ) 4329/(Set : C) 

4329/(Set : C)  P. T. O. 

 fuEufyf[kr iz'uksa ds mÙkj ,d,d,d,d ;k nksnksnksnks okD;ksa esa nhft, % 
 Answer the following questions in one or two 

sentences : 

 (vi)  fuEu vfHkfØ;k dks iw.kZ dhft, %  1 

    ?223  →+

+H
NHCHCH  

  Complete the following reaction : 

    ?223  →+

+H
NHCHCH  

 (vii) izkFkfed vfHkfØ;k,¡ D;k gksrh gSa \ 1 

  What are Elementary reactions ? 

 (viii) Ge dks In ls Mksfir djus ij fdl izdkj ds v/kZpkyd 
dk l`tu gksrk gS \   1 

  What type of semiconductor is created 

when Ge is doped with In ? 

 (ix) ok"inkc ds vkisf{kd voueu ds fy, in 
(expression) fyf[k,A   1 

  Write the expression for relative lowering in 

vapour pressure. 

C CH3 

O 

C CH3 

O 
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 ( 8 ) 4329/(Set : C) 

4329/(Set : C) 

 (x) mRlxZ laj{k.k fdls dgrs gSa \  1 

  What is sacrificial protection ? 

 (xi) lh,elh (CMC) dk foLrkj dhft,A 1 

  Expand CMC. 

 (xii) MsVkWy ds izeq[k la?kVd dkSu&ls gSa \ 1 

  What are the main constituents of Dettol ? 

 (xiii) fXyIVy dh ,dyd bdkb;k¡ D;k gSa \ 1 

  What are monomer units of Glyptal ? 

 (xiv) ,sfeyksisfDVu esa fdl izdkj dk ca/k gksrk gS \ 1 

  What type of linkage is there in   

Amylopectin ? 

[ vfry?kq mÙkjh; iz'uvfry?kq mÙkjh; iz'uvfry?kq mÙkjh; iz'uvfry?kq mÙkjh; iz'u    ] 
[ Very Short Answer Type Questions ] 

  2. ;qXeu vfHkfØ;k ij ,d y?kq fVIi.kh fyf[k,A 2 

 Write a short note on coupling reaction. 

  3. ,sjkseSfVd izkFkfed ,sehu xSfcz,y FkSfyekbM vfHkfØ;k }kjk ugha 
cukbZ tk ldrhA le>kb,A 2 

 Aromatic primary amines cannot be prepared by 

Gabriel phthalamide reaction. Explain. 

  4. O;k[;k dhft, fd yxHkx ,d leku fo|qr~&_.kkRedrk gksus ds 
i'pkr~ Hkh vkWDlhtu gkbMªkstu vkca/k fufeZr djrk gS] tcfd 
Dyksjhu ughaA 2 
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 ( 9 ) 4329/(Set : C) 

4329/(Set : C)  P. T. O. 

 Explain why inspite of nearly the same 

electronegativity, oxygen forms hydrogen 

bonding while chlorine does not ? 

  5. yksgs dk tax yxuk ,d oS|qr~&jklk;fud ifj?kVuk dgk tkrk   
gS \ blds fy, dkj.k nhft,A 2 

 Rusting of iron is said to be an electrochemical 

phenomenon. Give reason for this. 

  6. ,d lsy ftlesa fuEufyf[kr vfHkfØ;k gksrh gS % 2 

  )()aq(2)aq(2)aq(2 2
23 sIFeIFe +→+

+−+
 

 dk 298 K rki ij 236.0)( =cellE o  V gSA lsy vfHkfØ;k 
dh ekud fxCt ÅtkZ ,oa lkE; fLFkjkad dk ifjdyu dhft,A 

 The cell in which the following reaction occurs : 

  )()aq(2)aq(2)aq(2 2
23 sIFeIFe +→+

+−+
 

 has 236.0)( =cellE o  V at 298 K. Calculate the 
standard Gibbs energy and the equilibrium 

constant of the cell reaction. 

 7. 222.6 ,fFkyhu XykbdkWy C2H4(OH)2 rFkk 200 g ty dks 
feykdj izfrfge feJ.k cuk;k x;kA foy;u dh eksyyrk dh 
x.kuk dhft,A ;fn foy;u dk ?kuRo 1.072 g/ml gks] rks 
foy;u dh eksyjrk fudkfy,A 2 

 An antifreeze solution is prepared from 222.6 g 

of ethylene glycol C2H4(OH)2  and 200 g of water. 

Calculate the molality of the solution. If the 

density of the solution is 1.072 g/ml, then what 

shall be the molarity of the solution ? 
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 ( 10 ) 4329/(Set : C) 

4329/(Set : C) 

  8. ijklj.k ds vk/kkj ij 'kksQ (edema) voLFkk dks le>kb,A 2 

 On the basis of osmosis explain the condition 

edema. 

  9. tSo&fuEuhÑr gksus okys vkSj tSo&fuEuhÑr u gksus okys 
viektZdksa esa foHksn dhft,A izR;sd dk ,d,d,d,d mnkgj.k nhft,A 2 

 Differentiate between Biodegradable and Non-

biodegradable detergents. Give one example of 

each. 

10. vko';d rFkk vuko';d ,sehuks vEy D;k gksrs gSa \ izR;sd dk 
,d,d,d,d mnkgj.k nhft,A 2 

 What are essential and non-essential amino 

acids ? Give one example of each type. 

11. jcj v.kqvksa esa f}ca/kksa dh mifLFkfr fdl izdkj mudh lajpuk 
vkSj fØ;k'khyrk dks izHkkfor djrh gS \ 2 

 How does the presence of double bonds in 

rubber molecule influence their structure and 

reactivity ? 

[ y?kqy?kqy?kqy?kq    mÙkjh; iz'u mÙkjh; iz'u mÙkjh; iz'u mÙkjh; iz'u ] 
[ Short Answer Type Questions ] 

12. ftad CysaM ls ftad ds fu"d"kZ.k esa gksus okyh jklk;fud 
vfHkfØ;kvksa dks fyf[k,A 3 

 Write the chemical reactions taking place in 

extraction of zinc from zinc blende. 
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 ( 11 ) 4329/(Set : C) 

4329/(Set : C)  P. T. O. 

13. v"VQydh; fØLVy {ks= esa 'd' d{kdksa ds foikVu dks le>kb,A3 

 Explain the splitting of 'd' orbitals in octahedral 

crystal field. 

14. dksVsªsy vo{ksid esa dksykWbMh /kwez dk vo{ksi.k fdl izdkj gksrk 

gS \  3 

 How does the precipitation of colloidal smoke 

takes place in cottrel precipitator ? 

15. (a) izFke dksfV dh vfHkfØ;k ds fy, osx fLFkjkad 60 S–1 gSA 
vfHkfØ;d dks viuh izkjafHkd lkUnzrk ls 

16
1 ok¡ Hkkx jg 

tkus esa fdruk le; yxsxk \ 2 

  The rate constant for a first order reaction 

is 60 S
–1
. How much time will it take to 

reduce the initial concentration of the 

reactant to its 
16
1 th value ? 

 (b) lfØ;.k ÅtkZ fdls dgrs gSa \ 1 

     What is Activation Energy ? 

16. cSaM fl)kUr ds vk/kkj ij pkyd ,oa v/kZpkyd esa D;k vUrj 
gksrk gS \ le>kb,A 3 

 In terms of band theory, what is difference 

between a conductor and a semiconductor ? 

Explain. 
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 ( 12 ) 4329/(Set : C) 

4329/(Set : C) 

17. vki fuEufyf[kr ifjorZu dSls djsaxs \ 1 × 3 = 3 

 (a) VkWywbZu ls csfUty ,sYdksgkWyA 

 (b) C;wV&1&bZu ls C;wV&2&bZuA 

 (c) r`rh;d&C;wfVy czksekbM ls vkblks&C;wfVy czksekbMA 

 How will you bring about following conversions ? 

 (a) Toluene to Benzyl alcohol. 

 (b) But-1-ene to But-2-ene. 

 (c) Tert-Butyl bromide to Isobutyl bromide. 

18. fuEu ij y?kq fVIi.kh fyf[k, % 

 (a) fofy;Elu bZFkj la'ys"k.kA   2 

 (b) dksYcs vfHkfØ;kA   1 

 Write short note on : 

 (a) Williamson Ether Synthesis. 

 (b) Kolbe's Reaction. 

[    nh?kZ mÙkjh; iz'u nh?kZ mÙkjh; iz'u nh?kZ mÙkjh; iz'u nh?kZ mÙkjh; iz'u ] 
[ Long Answer Type Questions ] 

19. (a) flYoj ijek.kq dh ewy voLFkk esa iw.kZ Hkfjr 'd' d{kd 
)d4( 10  gSA vki dSls dg ldrs gSa fd ;g ,d laØe.k 

rÙo gS \   2 

  Silver atom has completely filled 'd' orbitals 

)d4( 10  in its ground state. How can you say 

that it is a transition element ? 
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 ( 13 ) 4329/(Set : C) 

4329/(Set : C)  P. T. O. 

 (b) ySUFksukW;M dh rqyuk esa ,sfDVukW;M vf/kd la[;k esa 
vkWDlhdj.k voLFkk,¡ iznf'kZr djrs gSaA D;ksa \ 3 

  Actinoids exhibit a large number of 

oxidation states in comparison to 

corresponding members of Lanthanoid 

series. Why ? 

vFkokvFkokvFkokvFkok    

OR 

 (a) f}rh; ,oa r`rh; laØe.k Js.kh ds rÙo ,d tSls 
ijekf.od f=T;k,¡ iznf'kZr djrs gSaA le>kb,A 2 

  Members of second and third transition 

series exhibit similar atomic radii. Explain. 

 (b) fuEu dks Li"V dhft, %  

  (i) laØe.k /kkrq,¡ rFkk buds vusd ;kSfxd mÙke 
mRizsjd dk dke djrs gSaA  2 

  (ii) ySUFksukW;Mksa dh rqyuk esa ,fDVukW;Mkas esa ladqy cukus 
dh izo`fÙk vf/kd gksrh gSA  1 

  Account for the following : 

  (i) Transition metals and their many 

compounds act as good catalysts. 

  (ii) Actinoids has greater tendency to form 

complexes in comparison to Lanthanoids. 

http://www.bsehonline.com/

http://www.bsehonline.com/

http://www.bsehonline.com/

Stu
de

nt
Suv

idh
a.

co
m

Download all NOTES and PAPERS at StudentSuvidha.com

dow
nloa

ded
 fro

m

http://www.bsehonline.com
http://www.bsehonline.com
http://www.bsehonline.com
Free Hand Highlight

Free Hand Highlight

http://studentsuvidha.com/
http://studentsuvidha.com/


 ( 14 ) 4329/(Set : C) 

4329/(Set : C) 

20. (a) csUtksQhuksu ,oa ,lhVksQhuksu esa ,d jklk;fud ijh{k.k 
dh lgk;rk ls vki dSls foHksn djsaxs \ 2 

  How will you distinguish between 

Benzophenone and Acetophenone with the 

help of a chemical test ? 

 (b) COOHCH3  dh fuEu ds lkFk vfHkfØ;k ds fy, 
jklk;fud lehdj.k nhft, %  1 × 3 = 3 

  (i) 3PCl  

  (ii) 4LiAlH  

  (iii) OHHC 52  ds lkFk +H  dh mifLFkfr esaA 

  Give chemical equation for the reaction of 

COOHCH3 with following : 

  (i) 3PCl  

  (ii) 4LiAlH  

  (iii) OHHC 52  in the presence of +H .  

vFkokvFkokvFkokvFkok    
OR 

 (a) lkbDyksgsDlsuksu vPNh yfC/k esa lk;uksgkbfMªu cukrk gS] 
ijarq 2, 2, 6-VªkbesfFkylkbDyksgsDlsuksu ,slk ugha djrkA 
le>kb,A  2 

  Cyclohexanone forms cynohydrin in good 

yield but 2, 2, 6-trimethylcyclohexanone 

does not. Explain. 
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 ( 15 ) 4329/(Set : C) 

4329/(Set : C)  P. T. O. 

 (b) ,fYMgkbMksa vkSj dhVksuksa dh ukfHkdjkxh ;ksxt vfHkfØ;kvksa 
dh fØ;kfof/k le>kb,A   2 

  Explain the mechanism of nucleophilic 

addition reactions of aldehydes and 

ketones. 

  Complete the following reaction : 

 (c) fuEu vfHkfØ;k dks iw.kZ dhft, %  1 

    
2

56
3

CS

AlCl
COClHC  →+

 futZy  ? 

  Complete the reaction : 

    
2

3Anhyd.

56
CS

AlCl
COClHC  →+  ? 

21. (a) 2SO  fdl izdkj ls ,d ok;q iznw"kd gS \ 2 

  How is 2SO  an air pollutant ? 

 (b) ,Dokjsft;k D;k gS \ bldh lksuk ds lkFk vfHkfØ;k 

nhft,A   2 

  What is Aquaresia ? Give its reaction with 

Gold. 

 (c) 33 )(HPO  dh lajpuk nhft,A  1 

  Give structure of 33 )(HPO . 
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 ( 16 ) 4329/(Set : C) 

4329/(Set : C) 

vFkokvFkokvFkokvFkok    

OR 

 (a) D;k 5PCl  vkWDlhdkjd vkSj vipk;d nksuksa dk;Z dj 

ldrk gS \ rdZ nhft,A 2 

  Can 5PCl  act as an oxidizing as well as 

reducing agent ? Justify. 

 (b) 3ClF  ik;k tkrk gS tcfd 3FCl  ugha] D;ksa \ 2 

  3ClF  exists but 3FCl  dost not. Why. 

 (c) 4XeF  dh lajpuk nhft,A   1 

  Give structure of 4XeF . 

SSSS  
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